
P L Y M O U T H  Y A R N® 

Free Pattern with Our Compliments F755 
Find Inspiration: www.plymouthyarn.com   

  

ABBREVIATIONS: beg= begin(ning), BO= bind off, CO= cast on, k = knit, k2tog = knit two together, m= marker, mm= millimeter, p= 
purl, p2tog= purl two stitches together, p3tog= purl three stitches together, rep= repeat, RS= right side, sl = slip, ssk =slip 1 st as if to 
knit, slip a second st as if to knit, knit them together through the back loop, st(s) = stitch(es), st st =stockinette st, WS= wrong side, 
yo= yarn over 
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 Lace Stole 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Approximate Finished Measurements 17 ½” wide x 66” long after blocking 

 

 

Materials: 

Jeannee Worsted: 8—50G balls, color 26 Salmon 

  Gauge: 18 sts, 24 rows = 4” on US size 7 (4.5mm) needle in Diamond Lace Stitch after blocking. 

Needles/Notions: US Size 7 (4.5mm) long straight knitting needles, 1 stitch holder, tapestry needle.  
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The stole is worked in two pieces and joined together at the center using Kitchener stitch.  

 

Garter stitch= k every row. 

 
A note about the chart: Only Right Side Rows are 

shown. All Wrong Side Rows are worked as follows: 

WS Rows: K1, *p6, k1; rep from * across.  

 

Diamond Lace Stitch 

(Multiple of 14 sts + 15) 

Row 1 (RS): P1, k2, k2tog, k2, yo, *p1, yo, k2, 

ssk, k2, p1, k2, k2tog, k2, yo; rep from * to last 

8 sts, p1, yo, k2, ssk, k2, p1.  

Row 2 and all WS Rows: K1, *p6, k1; rep from 

* across. 

Row 3: P1, k1, k2tog, k2, yo, k1, *p1, k1, yo, 

k2, ssk, k1, p, k1, k2tog, k2, yo, k1; rep from * 

to last 8 sts, p1, k1, yo, k2, ssk, k1, p1.  

Row 5: P1, k2tog, k2, yo, k2, *p, k2, yo, k2, ssk, 

p1, k2tog, k2, yo, k2; rep from * to last 8 sts, p1, 

k2, yo, k2, ssk, p1.  

Row 7: P2tog, k2, yo, k3, *p1, k3, yo, k2, p3tog, 

k2, yo, k3; rep from * to last 8 sts, p1, k3, yo, 

k2, p2tog.  

Row 9: P1, k2, k2tog, k2, yo, *p1, yo, k2, ssk, 

k2, p1, k2, k2tog, k2, yo; rep from * to last 8 sts, 

p1, yo, k2, ssk, k2, p1.  

Row 11: P1, k1, k2tog, k2, yo, k1, *p1, k1, yo, 

k2, ssk, k1, p1, k1, k2tog, k2, yo, k1; rep from * 

to last 8 sts, p1, k1, yo, k2, ssk, k1, p1.  

Row 13: P1, k2tog, k2, yo, k2, *p1, k2, yo, k2, 

ssk, p1, k2tog, k2, yo, k2; rep from * to last 8 

sts, p1, k2, yo, k2, ssk, p1. 

Row 15: P2tog, k2, yo, k3, *p1, k3, yo, k2, 

p3tog, k2, yo, k3; rep from * to last 8 sts, p1, k3, 

yo, k2, p2tog.  

Row 17: P1, yo, k2, ssk, k2, *p1, k2, k2tog, k2, 

yo, p1, yo, k2, ssk, k2; rep from * to last 8 sts, 

p1, k2, k2tog, k2, yo, p1.  

Row 19: P1, k1, yo, k2, ssk, k1, *p1, k1, k2tog, 

k2, yo, k1, p1, k1, yo, k2, ssk, k1; rep from * to last 8 sts, p1, k1, k2tog, k2, yo, k1, p1.  

Row 21: P1, k2, yo, k2, ssk, *p1, k2tog, k2, yo, k2,  

 

p1, k2, yo, k2, ssk; rep from * to last 8 sts, p1, k2tog, k2, yo, k2, p1.  

Row 23: P1, k3, yo, k2, *p3tog, k2, yo, k3, p1, k3, yo, k2; rep from * to last 8 sts, p3tog, k2, yo, k3, p1.  

Row 25: P1, yo, k2, ssk, k2, *p1, k2, k2tog, k2, yo, p1, yo, k2, ssk, k2; rep from * to last 8 sts, p1, k2, k2tog, k2, yo, 

p1.  

Row 27: P1, k1, yo, k2, ssk, k1, *p1, k1, k2tog, k2, yo, k1, p1, k1, yo, k2, ssk, k1; rep from * to last 8 sts, p1, k1, 

k2tog, k2, yo k1, p1.  

Row 29: P1, k2, yo, k2, ssk, *p1, k2tog, k2, yo, k2, p1, k2, yo, k2, ssk; rep from * to last 8 sts, p1, k2tog, k2, yo, k2, 

p1.  

Row 31: P1, k3, yo, k2, *p3tog, k2, yo, k3, p1, k3, yo, k2; rep from * to last 8 sts, p3tog, k2, yo, k3, p1.  
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Row 32: K1, *p6, k1; rep from * across. 

Rep these 32 rows for pattern st.  

 

Begin 

First Half 

CO 79 sts. K 5 rows in Garter Stitch.  

Work 6 total rep of Diamond Lace Stitch, keeping the first and last 4 sts in Garter stitch.  

End the last rep with row 31 (191 rows in pattern stitch) Cut yarn, leaving a 6” tail for weaving in later. Place all sts 

onto a holder.  

 

Second Half 

Work same as first half; do not cut yarn. 

Join the first and second half tog using Kitchener stitch. 

 

Finishing 

Block to measurements. Weave in all ends. 
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